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bl EvAz|orTL| #E |Evrz|orrn| #HE (eorz|ozrn| HE| 15 | 28 | 3F | 85

x 173 6 1 11 2 1 2 7| 14 2| 23

X = 2 3 1 2 1 2 4 3 9

B N #o 3 1 1 1 1 3 4 3 31 10

= E = 3 1 1 2 2 1 4 1 5/ 10

# 3] 2 3 1 1 4 1 5

[£3) =] 1 1 2 2

I Hi 13 2 4 18 4 4 9 3 2| 19| 26| 14| 59

% = 2 2 1 9 1 9 1 3 5 10| 13| 28

L] 0 13 7 2 9 5 4 13 3 22 18| 16| 56

,% X a 3 4 1 1 3 1 7 4 40 15
X\

n| 2 # 2 2 1 5 5

=) n 1 1 1 1 1 1 2 4

N 5 20| 15 5 20 7 6| 26 5 4 40| 33 35 108

9 | i - 4 1 1 1

g =E3 1 1|

Gil BS 2 2 2

& 1L M-8 W 1 1 1

5 N m-5PR 1 1 1

pi3 5 2 2 2

ri; X fi# 2 1 2 1 2 1 3 6
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N x 1 1 0 1
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il ] & 1 1 1
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Iz B 1R - TR E 1 1 1
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